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Most Bxpected 250 Questions (Super Series)

Which of the following symbols should replace the
guestion mark?

If P<Sistrue, P<Q<R?T=S

a) <
b) 2
c)=
d) <
e)>



Most Bxpected 250 Questions (Super Series)

Which of the following symbols should replace the
guestion mark?

IfA<Eistrue, B=A<G?H=E

a) 2
b) <
e
d) <
e) Either b or c
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Which of the following symbols should replace the
guestion mark?

Which of the following is true if KSL<M=N>O0is
true?

a)LsM
b)K<O
c)O<LlL
d) K< N
e) None of these
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Which of the following symbols should replace the
qguestion mark in the given statement in order to make
conclusion “S > O” definitely true?

S21?V=02B>E

a) =
b) 2
c) <
d) <
e) None of these
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Which statement should be placed in the blank
spaces respectively( from left to right)?
IfZ<Yistrue,then < < =

a)XZTY
b)XZYT
C)XYTZ
d)ZXTY
e)YXZT
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Which of the following symbols should replace the sign
respectively in order to complete the given expression
in such a manner that “Z > S” definitely holds True?
C<Z2R=2K#Y2S

Mbst Expected 250 Questions (Super Series) %

a) 2
b) <
c) >
d) =
e) <
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Which of the following would replace @ and & in
the following expression so that ‘O > N’ is definitely
true?

L=O>W@Ms<KM>F&C=2N

a) <, =
b) >, <
c) =, <
d) 2, <
e) 2,>

-
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In which of the following expressions will the
expression ‘Y < R’ be definitely true?

a) Y2P=U=R
b) YXU>R>P
c) YSU=P<R
d) U>Y2R<P
e) R>U=P<Y
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In the following question, how to place the e
symbols so that both the conditions, R>G and N <F,
definitely hold true when all the expressions are
considered together?

R _ E>W<X<F,W_S$>G;Xz2U__ N

o

Vv
v iv A
VV A ALV
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What will come in the place of question mark (?) in the
given statement if 4 > 8 and 9 2 6 is definitely true?
4>25>9(?)827=6

Mbst Expected 250 Questions (Super Series) d

m IA V IV I

e |ther = or 2
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What will come in the place of question mark (?) in the
given statement if 4 > 8 is definitely true?
223=425(?)6=728
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The following symbols represent the month and date of %
years:

(@ means either the month or date of a year is 1
# means either the month or date of a year is 2
& means either the month or date of a year is 6
$ means either the month or date of a year is 4
? means either the month or date of a year is 3
A means either the month or date of a year is 7
! means either the month or date of a year is 9
* means either the month or date of a year is 5
% means either the month or date of a year is 8
Note: The first symbol represents the month and
the second symbol represents the Date of the
year. (Ex: &@ means June 1). In certain cases,
it represents age also.
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(@ means either the month or date of a yearis 1 p [E
# means either the month or date of a year is 2

& means either the month or date of a year is 6

$ means either the month or date of a year is 4

? means either the month or date of a year is 3

A means either the month or date of a year is 7

! means either the month or date of a year is 9

* means either the month or date of a year is 5

% means either the month or date of a year is 8

Note: The first symbol represents the month and the second symbol
represents the Date of the year. (Ex: &@ means June 1). In certain cases,
it represents age also.

If the average age of Arun, Ravi and Kamal is #? and the sum of the age of
Arun and Ravi is ?”. then what is the age of Kamal?(Symbols represents
Age)

a) 7#

b) 2!

C) #H#

d)?@

e) None of these
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(@ means either the month or date of a yearis 1 p [E
# means either the month or date of a year is 2

& means either the month or date of a year is 6

$ means either the month or date of a year is 4

? means either the month or date of a year is 3

A means either the month or date of a year is 7

! means either the month or date of a year is 9

* means either the month or date of a year is 5

% means either the month or date of a year is 8

Note: The first symbol represents the month and the second symbol
represents the Date of the year. (Ex: &@ means June 1). In certain cases,

it represents age also.

Arjun joined the office on *! and Arvind joined the office on %™ in the same
year. Then how many days are there between their joining?

a) 28

b) 27

¢) 26

d) 30

e) None of these
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(@ means either the month or date of a yearis 1 p [E
# means either the month or date of a year is 2

& means either the month or date of a year is 6

$ means either the month or date of a year is 4

? means either the month or date of a year is 3

A means either the month or date of a year is 7

! means either the month or date of a year is 9

* means either the month or date of a year is 5

% means either the month or date of a year is 8

Note: The first symbol represents the month and the second symbol
represents the Date of the year. (Ex: &@ means June 1). In certain cases,
it represents age also.

Ramesh was born on *&, Suresh was born exactly 61 days after Ramesh,
then what is the date of birth of Suresh?

a) *&

b) #/

¢) #%

d) !*

e) None of these
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(@ means either the month or date of a yearis 1 p [E
# means either the month or date of a year is 2

& means either the month or date of a year is 6

$ means either the month or date of a year is 4

? means either the month or date of a year is 3

A means either the month or date of a year is 7

! means either the month or date of a year is 9

* means either the month or date of a year is 5

% means either the month or date of a year is 8

Note: The first symbol represents the month and the second symbol
represents the Date of the year. (Ex: &@ means June 1). In certain cases,

it represents age also.

Ashu books a railway ticket exactly 3 months before the date in which her
journey will be scheduled. Her journey scheduled on **, Then when did she
book the ticket?

a) $*

b) #*

C) A%

d) &*

e) None of these
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A@B(18m)— A is 15m north of B R
A#B(12m) — A is 10m south of B

A$B(14m) — A is 20m east of B

A%B(10m) — A is 15m west of B

C&AB— C is the middle point of A and B

@% —>north-west, #$ — Southeast

S@M(19); N#A(16); Q%R(3); R@T(13); G#Q(6); C&SM; M%G(5); C%A;
R#BS$SA; TSN(7); O&MG

What is the direction of T with respect to A?
a) @%

b) #$

¢)Can’t be determined

d) #%

e) @$
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A@B(18m)— A is 15m north of B RS
A#B(12m) — A is 10m south of B

A$B(14m) — A is 20m east of B

A%B(10m) — A is 15m west of B

C&AB— C is the middle point of A and B

@% —>north-west, #$ — Southeast

S@M(19); N#A(16); Q%R(3); R@T(13); G#Q(6); C&SM; M%G(5); C%A;
R#BS$SA; TSN(7); O&MG

What is the direction and shortest distance of C with respect to B?
a) C%B(23)

b)B%C(13)

¢) C%B(13)

d) B%C(23)

e) None of the above
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A@B(18m)— A is 15m north of B RS
A#B(12m) — A is 10m south of B

A$B(14m) — A is 20m east of B

A%B(10m) — A is 15m west of B

C&AB— C is the middle point of A and B

@% —>north-west, #$ — Southeast

S@M(19); N#A(16); Q%R(3); R@T(13); G#Q(6); C&SM; M%G(5); C%A;
R#BS$SA; TSN(7); O&MG

Four of the following are alike in a certain way. Which of the following ones
does not belong to the group?

a) SA

b)BO

c) QN

d) RG

e)AM
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Eight members- L, M, N, O, P, Q, R, and S are from the saﬂfé
family. There are three generations with three married
couples. They are standing in the queue for the Covid test
according to the token number from 1 to 8. All the
information is not necessarily in the same order. L’s spouse
gets an immediate previous token number of O. O is the only
son of M. L’s spouse gets an even number token, at least
three person stands after L’s spouse. N is the brother in-law
of O who is the uncle of P. P is the granddaughter of M and
R’s siblings. Neither S nor N has siblings. R is the only son of
N. L is the father-in-law of N. R’s father's token number is
twice that of Q’s mother's token. The difference between the
token numbers of Q’s spouse and O’s spouse is one. O’s
father has even number token and stands after M’s daughter-
in-law. R’s token number is more than L. P gets two less than
the token number of Q’s brother. Q gets one of the token
numbers before R.
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L’s spouse gets an immediate previous token number of 0.0
is the only son of M. L’s spouse gets an even number token, at
least three person stands after L’s spouse. N is the brother in-
law of O who is the uncle of P. P is the granddaughter of M
and R’s siblings. Neither S nor N has siblings. R is the only
son of N. L is the father-in-law of N. R’s father's token
number is twice that of Q’s mother's token. The difference
between the token numbers of Q’s spouse and O’s spouse is
one. O’s father has even number token and stands after M’s
daughter-in-law. R’s token number is more than L. P gets
two less than the token number of Q’s brother. Q gets one of
the token numbers before R.

Which of the following token number that O’s spouse get?

a) Token 6

b) Token 3

¢) Token 4

d) Token 5

e) Token 7
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L’s spouse gets an immediate previous token number of 0.0
is the only son of M. L’s spouse gets an even number token, at
least three person stands after L’s spouse. N is the brother in-
law of O who is the uncle of P. P is the granddaughter of M
and R’s siblings. Neither S nor N has siblings. R is the only
son of N. L is the father-in-law of N. R’s father's token
number is twice that of Q’s mother's token. The difference
between the token numbers of Q’s spouse and O’s spouse is
one. O’s father has even number token and stands after M’s
daughter-in-law. R’s token number is more than L. P gets
two less than the token number of Q’s brother. Q gets one of
the token numbers before R.

How many persons are standing between Q’s daughter and
\\W¢

a) Two

b) Three

¢) Four

d) One

e) More than four
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L’s spouse gets an immediate previous token number of 0.0
is the only son of M. L’s spouse gets an even number token, at
least three person stands after L’s spouse. N is the brother in-
law of O who is the uncle of P. P is the granddaughter of M
and R’s siblings. Neither S nor N has siblings. R is the only
son of N. L is the father-in-law of N. R’s father's token
number is twice that of Q’s mother's token. The difference
between the token numbers of Q’s spouse and O’s spouse is
one. O’s father has even number token and stands after M’s
daughter-in-law. R’s token number is more than L. P gets
two less than the token number of Q’s brother. Q gets one of
the token numbers before R.

How R is related to S’s spouse?

a) Nephew

b) Niece

¢) Son

d) Daughter

e) Can’t be determined
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L’s spouse gets an immediate previous token number of 0.0
is the only son of M. L’s spouse gets an even number token, at
least three person stands after L’s spouse. N is the brother in-
law of O who is the uncle of P. P is the granddaughter of M
and R’s siblings. Neither S nor N has siblings. R is the only
son of N. L is the father-in-law of N. R’s father's token
number is twice that of Q’s mother's token. The difference
between the token numbers of Q’s spouse and O’s spouse is
one. O’s father has even number token and stands after M’s
daughter-in-law. R’s token number is more than L. P gets
two less than the token number of Q’s brother. Q gets one of
the token numbers before R.

What is the sum of token numbers of P and M?

a) 3

b) 4

¢)S

d)6

e)7
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Eight persons — A, B, C, D, E, F, G and H are sitting on a stralgm
bench facing North. Each have scored different marks viz. 10, 12, 14,
16,17, 18, 19 and 20, but not necessarily in the same order. A has not
scored 17 marks. The person who has scored 12 marks is sitting
immediate left to that person who has scored 18 marks. D is sitting
between A and G. Only one person is sitting between the one who has
scored 10 marks and the one who has scored 19 marks. F has scored 19
marks. Only two persons are sitting between B and the one who scored
18 marks. B is an immediate neighbour of F and E. D is sitting
immediate right of A. The one who has scored 20 marks, is not sitting
on extreme end of the row. F is not sitting on extreme end of the row. B
is not sitting extreme end of the row. D has scored 14 marks. H has not
scored 18 marks. A is sitting extreme end of the row. B has not scored
20 marks. Five persons are sitting between A and B.
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Wé%%lmﬁwamamm%q%l 10, 12, 14, 16, 17, 18, 19
3R 20, AT S TE for T A A BT A T 17 mmqﬁ%q%lﬁm
=RE 3 12 stk T TR ¥ o 39 suafw & 3 916 et § e 18 i
TTH fRT F1 D, A 3R G o = § 93T 21 10 3Tk ITH A dTeT 3T 19 3k
TTH S 9Tl ok 1<l ShloT Ueh 1<k 93T 21 F 7 19 37 uTH fRu 3 B 3R
18 37h UTH i ITeA Tk o AL hdlol &1 Sk o3 @l B, F 3 E &1
fehcaw u=Et 21 D, A & dieh o deT 2l ™ 20 o e fRu E, T
tfer o ifaw SR o 78 TeT 21 F ufh & siftar s wadi St 21 Bufe &
T BR WX T AT 21 D 7 14 37k uTH fRU 3| H T 18 27k UTH 781 fohu
FNAUFEF AT SRR ISTRI B 20 SiF U T2 fRU R A IR B &
srer i safte 98 2



Mbst Expected 250 Questions (Super Series) \

A has not scored 17 marks. The person who has scored 12 marks 1S
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

How many person sit/sits between second to the left of G and H?

01. None 02.3
03.2 04.1
05. None of these.
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A has not scored 17 marks. The person who has scored 12 marks"is
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

is an immediate neighbor of E

01.C 02. A
03.F 04. B
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A has not scored 17 marks. The person who has scored 12 marks®§
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

Who among following sit at the extreme end of the line?

01.A,F 02.A,C
03.A,B 04.A,G
05. A, E
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A has not scored 17 marks. The person who has scored 12 marks®§
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

Which of the following person chooses the number 18?

01.1 02. L
03. H 04. G
05. None of these
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A has not scored 17 marks. The person who has scored 12 marks®§
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

Who sits exactly between G and H?

01.J 02. K
03. L 04 M
05. F and L
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A has not scored 17 marks. The person who has scored 12 marks®§
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

Who is third to the left of M?

01. G 02. K
03. H 04. L
05. None of these
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